PR29FERERPVF 2P I D) EFEECRS

=% FBELRAYEU—DS5T Ki%I—2(6663Yards Par 72)
28 4817808
TYRJ—: 1088
HiZ: 1038
V) BEl FhiE 237 V) Bl FhE 237 V) BEl FhE 237
1 ENEE B72 73 (39.34) pari N1 5% -t 81  (39.42) B & 3= 87  (42.45)
2 FHUW R BE72 75 (40, 35) R B =R 81  (38.43) 83 X BEABF = 88  (45.43)
WH Bf% NBR-WE 75 (40, 35) e EL T3sEtR 81  (38.43) £ EAH B35 88  (44.44)
TR §— EBEsE3K 75 (40, 35) 4 BH Bz HTs 82  (43.39) ME Hm =28 &5 88  (44.44)
=) $$a] KBELADZ 15 (37.38) RED /I reavkeavazr 82 (42.40) B Bn  #E 88  (43.45)
R TEAMKGA Y21=7 75 (36, 39) B ERER tHwEF—2 82 (42, 40) 87 BN BN EBEZEAK 89 (46. 43)
=2l é}ﬁ =) 75 (36.39) INE B BAENI 82  (a1,.41) INVE (R FULEYD 89 (45, 44)
8 IV IBE =4 76 (41,35) TwFH E— mmaveu— 82 (40,42 R BB swmr-memz 89 (43.46)
B BB wgstR 76 (40, 36) W/ £ ®Ft =% 82  (39.43) HhH 8% TFE1R 89  (41.48)
HEB K& B\reEssk 76 (39.37) 50 FFEH BIE =mnveu— 83 (43,40) 91 BB  emeswms 90 (47.43)
X mE  =RER 76 (38.38) B PBR 83  (43.40) ERE L  xrTumsve 90 (44, 46)
KRB teavkeavazr 16 (37.39) EiR 8— m@mHNryU— 83 (43.40) 93 ER LK IL—FTv=x 91 (47.44)
T EH  KEK 76 (37.39) & ARR BEESTA 83  (42.41) il IEFE  sthw 91 (46, 45)
14 Fdb =N  Amz-meg 77 (38.39) =0 B e 83  (42.41) 95 =)I| @l =B 92  (45.47)
15 BN £F  FEsTR 78 (42.36) WK 78 peEE 83  (41.42) 96 FTHM &8A T 93 (45.48)
SBE— I 78 (42.36) EBR &N  8\sk 83  (41.42) 97 TG oA =93 95  (47.48)
B= 2k =tieR 78  (40.38) 1E =B  ErEsaK 83  (40.43) 98 IN\EFIF R N\BER-#E 97 (52.45)
HokEB BiE =+ 78 (40, 38) ME =R smz-memg 83 (39.44) B BT  BEH 97  (49.48)
TN ES  BRR 78 (39.39) 59 MBER F0ER  wumosSyes 84 (47.37) ERE (Y ABD BESzA 97  (47.50)
Fe g =17e] IR, 78 (38, 40) FEE Awmr-wms 84 (43.41) 101 IV1] 3R BEAA 98 (49, 49)
21 BUL BE  FEg 79 (40, 39) FE B TBELR 84  (43.41) =i &% 98 B85
NI BB— S 79 (40.39) B 6 eEex 84 (42,42 zig RS/ KBB T
BU K& Frveor 79 (40, 39) & T egsK 84 (40, 44) x5 B3 5k Pz
SN AR StiER 79 (40, 39) K6 BrESEA 84  (36.48) x5 AT 55 (P
AB ME B8R 79 (39.40) 65 BEE BESIA 85  (45.40) x5 FIR & O PILRE—
R =X Ti3stR 79 (39, 40) A6 8 mEATYU— 85 (43, 42) x5 KW <F BE
T8 ME XxPLroz 79 (38.41) B8 X— B 85  (42.43) xR A 0 KEAR
28 B0 F— TSR 80  (43.37) FB08 B TBELR 85  (42.43)
EEL IE peEE 80  (42.38) =750 BET 85  (41.44)
it Bah  DIIKW 80  (41.39) g BXR  emoswems 85 (40, 45)
SUR SAR  mEx 80  (41.39) AN [ET BrEssK 85  (39.46)
| B wENVRU— 80 (40, 40) 72 1ERANBEZ ALRZPY 86 (46, 40)
$K IER +vooc-nz 80 (40, 40) BARMz wo@ 86  (45.41)
ik B2 888K 80 (37.43) FiEg RT =B 86  (44.42)
35 HEW FEIDED Bs@I 81  (43.38) MR BIE  xrourrvr 86 (43,43)
Hith SRR BrEssA 81  (41.40) =g B B0 86 (40, 46)
PBEH B8 =8 81  (40.41) 77 b HE  mE 87  (48.39)
N #88 AHAULR=PY 81  (40.41) i Xk m@mnryU— 87 (48.39)
BBk )% R 81  (39.42) BeE 3AB8  wmosSyws 87 (44,43)
=T & EN@E 81  (39.42) i N2 mET 87  (43.44)
- ME FE BB - EON BEABD Amx-mmag 87 (43.44)



